DR. JOHANNES HEIDENHAIN GmbH - Technical support, measuring systems € +49 8669 31-3104 - E-mail: service.ms-support@heidenhain.de

RCN 5311 Accessories are to be ordered separately:
& RCN 5511 BIFRIERRRSEL T Ly

RCN 5381 §i§ﬂiTg§H?gg1¢:

N RCN 5581 BB )
RCN 5391 F oMM alE HE F2 0 BLICh SALES & SERVICE:
RCN 5591 F 7 A Tech Authority, Inc.
RCN 5391 M 13745 Stockton Ave.
Egm 5231 PM Chino CA 91710

9391 909-614-4522

RCN 5591 P sales@atechauthority.com

- | RCN 5xx1
. Absolute angle encoder

Disassembly tool (for adapter cable) 7IV)a—rAEIVI—4

WONLIE(T72 T2 —7IVA) Iz R mSes
IFEIE (T &RHEL) BHAABERGS
FE LE (BEREREH) UL FE A2 A3YH

=3 =FHOIHE #H01=8)

1307426-00~A-02 - Printed in Germany 07/2020

General Information - —fi2153R - —fRIER - —AZEN - LM HE

Note:

Mounting and commissioning is to be conducted by a qualified specialist under compliance with local safety regulations.

Do not engage or disengage any connections while under power.

Encoders that have contributed to the failure of a safety function in the application are to be returned to HEIDENHAIN Traunreut.
Encoders are to be repaired exclusively by trained HEIDENHAIN technicians.

Avoid direct contact of aggressive media (such as organic solvents for cleaning) with the encoder and connector.

Mounting surfaces must be clean and free of burrs. Threads and screws are to be secured with materially bonding thread-locking fluid.
In case of replacement, recut the threads and use new screws with materially bonding anti-rotation lock.

Application with mechanical fault exclusion: Use new spring pins for front-end shaft coupling.

FE:

B R UGBS SR BE DR ERRDELE TEEROEFIRICKIRIET DL LTIIEEL,

ERE ANTCEE TORRZOETIFPERINLETOENTEEL,

TT V=3 THEREDBEICEAS LT aA—RIEN\ATVINA VDR A Y RIIGRELTLIEE L,
IVA—FDEERIE L —Z VT BB INA TV INA > OEMEUADITOTIEWIFEE A
IVO—AEOARTASEENDBVYBECERBEKAREE) ICEEMNEVLSITLTIZEN,
IYO—AEIMTEIGEE TN\ GEOESICLTLIET L, RUIEEH ESEEREFERLTERELTLEEL,
RS 25E1E R CILETVGE LT HRDEHIEAEESEMT R CEFERL T T,

RS EDRRND G DT T ) r—3>: v 7 M@ CORIHFHTHLWA T 7 EV ZEBLTIZEL,

FE:

TR OART S SR ERHHETERIE WA RIBE.

THEERY, PERNEREEMTHEAEL.

WNER N AR AYRIDESUE L R INRE S EMY, WS miSeS R EE S EIEEB.
IRISES RBEHIEEAA RIS,

FPERRIDES L BRI R (PINEERIIBEIIER) .
TEMWATEETEAER. IRSFUREV/RBRSEERIEE.
MERFBEFMR, EFINTIRSGFETHHAEETIRIFIRE.,
TEVREERGIPRIRIFD . IEMEBKGMES P Es.

EE
LHEARNRETHERLBERBEEHMNEEASIEELTAEMZ S REBEX -
EE R EES NI ER -

EEENEATZ I EN L E R ERIEEZE Traunreut ¢
HERBAZBEFNRIERENATNRMASETEE -

Brimina il E R EBEM M ER(GRERANAEAR) -
ZERANBERANEEE - BANB4ZAMNHSRBAEEREE -
EEBROBERT - STENRATEAS MRS RS A 184 -
HAIEERIER « B ESHARAIREHES -

xF7.
(= = L

X Y AHON L2 HX| ot -0 et Rt EZH7F A AlSofF gL Ct

7ts 5 ofd YR AZSALE 22|3HX| O AL,

X F ot 7|5 270 A0 £l AMIE = 510 HISHR! Traunreut 2 = E LIt

AAEE = StO|HSHQl 7| & X2 4=2|8ljof BtL|Ct.

548 2EEMEE /7] 8X 5)0 AIH X HUHO MY HESIX| (s SHUAIL.

MY EHS PRS0 LIRS BE20| QIO{OF THLICE LEAFAE 8 LEAHS HAHE O Zhst LEARA 7Y K| 2 D slof ehL|Ct
WHSHE 4R LIAMES CHA| "AtStD FAHo] Zst 3| WX 17-H0] = A LIALE ARSI A2,

7| A 0% M7 7|80 Us & MH AFZE HEYO &= A AZE 2 AFESHUAIL.

To ensure the correct and intended operation of the encoder, adhere to the requirements of the . o .
Product Information sheet ID 1294716 (including required mating dimensions). Oo position |nd°e>< +5
I O—2HELSEES BESIC WA TER ID 1294716/ BHONBEMSF BB TEL SN LA TR EL, 0°sAIE (£ 57)
SRS VIERMFIAT ST TIE, BT mEEID 1294716 EK (BiEEaRIYMEXK) . Oo{@hﬁi“iso
SieE L B BN EERIRE - BETERANEID 129471600BR Q2R BNERR ) - OMERSLS
ARC7L 2622 o w3 (2 HSES HE e Al D 1204716(E% B2 72 EE)o| 27 Algte E43HAlL. 0° 2IX| QM= £ 5

The PWW testing tool can be used to inspect for proper mounting.

PWW AIE SR Z AW CTIELKEIFITONTWAIMEE T AT ENTEET,
FPWWIlK T Bl & 52 B 1EM,

PWW I T B2 o] Akl 2 & EEEE -

PWW HIAE SFE ALESI0] SHIEA HEEJA=X A 5= ASLCH

Dimensions in mm <3 mm RIEBER mm R~ BfImm 74T mm)



britter
Text Box
SALES & SERVICE:
A Tech Authority, Inc.
13745 Stockton Ave.
Chino CA 91710
909-614-4522
sales@atechauthority.com


T EE

xal

Assembly 5 =

Shaft coupling with ring nut [R] and catch [M] (with mechanical fault exclusion)
25+ FRIEEVIESHIM] B FERD (T (RIS EO R 5 4))
THIAAZZE RIFNFRIMIMIRIERGHEE  (EHUSIERG1P)

SR [RIFHIE[M]AVE B S (S M AEEER)

d HER] ¥ HX[M] =T AIZE HEY|AN 0 HAH 7|s 2

[=13
=]

1. 1.2 2.
13 ID 817921-02 M
Ix % SW17

ISO 4762-M4x40-8.8
1SO 7092 -4-200HV
Mg =29 Nm=0.15 Nm &

2x \E

Front-end shaft coupling (with mechanical fault exclusion)
ESRE AN DI T (AT EDRRN L)

IEEBRIES (EHUmERRGH)

AR EE S (2N EEDERR)

HH MZE HEYVIAA 28 MA 75 =2

1.

4x

ISO 4762 — M4x40 - 8.8
ISO 7092 - 4 — 200HV
Mg =2.9+0.15Nm

2

R ERINHEHES,
EEBEHSA2EE -

2x
ISO 8752-2.5x10-St

For detail, see W
L WESRBRLTLEWD
BEER, 2IW
RGN - FEEW
XMet &2 WE BXT

= T =

3

Caution: Pay attention to the position of the spring pins with respect to the spring pin holes C.
Tighten the screws crosswise, with one-half revolution each until the tightening torque is reached.
EBE: XT)7EVDORAACBEL TR T T EYDMBITEELTLIEEL,

WA MVIIGET BETENTNIREX T OREICER A TIEEL,

Il FEGHEHENREEFLCIINE.

AR AEEESE, SREEEIARIEERE,

by FER - BEHEREZHACHAE -

DERlErEER%s  SESEEE  B2EIHEHER -

Fo: And H B2CE2 7|FLE AZY Tl X0 FOSHYAIL.

LIALE 2 EF0| =g W7HXA] A|A o= oF Hoj gt Hp3 4 = QIL|CH

4x

ISO 4762-M3x (L+4.5)-8.8
ISO 7092-3-200HV

Mg =125 Nm=+=0.1 Nm

Shaft coupling with ring nut [R] (without mechanical fault exclusion)
U257y FRICEZEIAFT (BEHBIEPEDBRA L)

IR BRYBAMER[R] (FHUEEEDTP)
SIRBNE[RIMVEEE S (R 2B PEHEER)

Y HER] Z8 AFZE HEICIAA 2% HA 7|

= o
S BHAD

f'lD 336669-17 Mg =30 Nm = 3 m

= \

4x
ISO 4762-M4x40-8.8

ISO 7092 -4-200HV SW17

Md = 2.9 Nm=0.15 Nm g ‘ oy
E ! g ! M3x35
° ‘ ID 530334-17

20| BN WHo2 RALS

HUAlL.

4. A\

Inspecting: Protrusion of ring nut relative to encoder housing.
BWEAE VT TV DIEHEHLE

Gl FAREEREEIINFIIRYT.,

2l . BIERE ERBRIRORST -

AL A ot Yof G YHES SEX|

Mg =30 Nm+=3 Nm

13.2+0.5

u

Mount spring pins S without burrs so that the slot is tangentially oriented, measuring the dimension L.
INUDIEWRAT) T ESEZOY MO TE LOBEAEICEDESICERIFTTEEL,
FEEETIAE, WERIL,

MItEERYEER - ASEZRTL -

ol ¢t

o H4d
= T

=XEE G7l2

Tangential slot

EEHmAOY b

gqd e%

4. /\

To check: Measure inspection dimension Z through the M3 back-off thread.
A5 M3DEWN LR LN ZEAWT HEZZ o THESAL TR ELY,
wE: FEREBENMZERIEIRTZ,
HE2RE . BEMIBRBANSHERIZ -
Y Y M3 I LIAMS S8 A 72z

M3
=
TT

FELch

NN

5.

Disassembly through the two back-off threads.
2DDOBIALBRLRZANT EIALTLIZEL,
FARAMFEDFRRUIRSHRED,

ZE MR B IRAURE -

WO LA £ S S8 Sagct

| Front-end shaft coupling (without mechanical fault exclusion)
| BREREANDEY T (FAREIESFEDRRN G L)
| EEBRSHEE (TAVMSFERD)
AR EEENEE S (R 2 MBS HEER)
IAH

| He ApzE HEY 1% 1A 715 88)

\
4x !
ISO 4762-M3x(L+4.5)-8.8
ISO 7092-3-200HV
Mg =1.25Nm=0.1 Nm

4x

ISO 4762-M4x40-8.8
ISO 7092-4-200HV
Mg =29Nm=0.15 Nm






